AL Pmd
é @ %% Semplificare i polinomi

Nome: Data: Punteggio: __
3x— x> — 58" — 8x— 9%’ 4% -2+ 4(3)(?2 — 4x2) +x
2 — 6x — 8x + 2(4x — 7x2) 2+ 7% — Tx— 3(6x —x3)
4x — 5% + 9x + 4(6x + 4x°) 2%+ T+ 4+ 2x— 20
3% 4+ 207 — 4+ 9 +3x° x— 2% — 4(2x — &) — 9x?
3x+ 6x—x° + 9x + Sx 3(xz+9x)—3xz—xz—5x2
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XA A

Semplificare i polinomi

Nome:

3x— % — 5% — 8x— 9x°
—9%> — 6% — 5x

23 — 6x% — 8x + 2(4x — 7x?)
2% — 20x°

4x — 5x° + 9x + 4(6x + 4x3)
11x° + 37x

3¢ + 20 — 4 + 9% + 3x°
126 + X2

3x+ 6x—x° + 9x + 5x
—x + x

Data: Punteggio:

4 = X7 +43x° — A7) +x°
X =

2%+ T — Tx — 3(6x—x3)
10x° + 2% — 25x

2% + T+ 4x + 2x = 2
20 + 9% + 2x

x— 2% — 4(2x — 8x°) — 9x?
320 — 112 — Tx

30 + 9x) — 3x% — 1% — 5x?

—6x% + 27x
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